

# Solution to Problem 73-8: A polynomial diophantine equation

## Citation for published version (APA):

Lossers, O. P. (1974). Solution to Problem 73-8: A polynomial diophantine equation. SIAM Review, 16(1), 99-100. https://doi.org/10.1137/1016015

DOI: 10.1137/1016015

# Document status and date:

Published: 01/01/1974

## Document Version:

Publisher's PDF, also known as Version of Record (includes final page, issue and volume numbers)

## Please check the document version of this publication:

• A submitted manuscript is the version of the article upon submission and before peer-review. There can be important differences between the submitted version and the official published version of record. People interested in the research are advised to contact the author for the final version of the publication, or visit the DOI to the publisher's website.

• The final author version and the galley proof are versions of the publication after peer review.

• The final published version features the final layout of the paper including the volume, issue and page numbers.

Link to publication

#### General rights

Copyright and moral rights for the publications made accessible in the public portal are retained by the authors and/or other copyright owners and it is a condition of accessing publications that users recognise and abide by the legal requirements associated with these rights.

- · Users may download and print one copy of any publication from the public portal for the purpose of private study or research.
- You may not further distribute the material or use it for any profit-making activity or commercial gain
  You may freely distribute the URL identifying the publication in the public portal.

If the publication is distributed under the terms of Article 25fa of the Dutch Copyright Act, indicated by the "Taverne" license above, please follow below link for the End User Agreement:

www.tue.nl/taverne

#### Take down policy

If you believe that this document breaches copyright please contact us at:

openaccess@tue.nl

providing details and we will investigate your claim.

Here  $\varepsilon = +1$  with  $\delta = \pm 1$  and  $\varepsilon = -1$  with  $\delta = -1$  covers all possibilities for

$$t_1 = \frac{n}{4} - \frac{4 + \varepsilon + \delta}{2}, \qquad t_2 = \frac{n}{4} - \frac{1 - \delta}{2},$$
  
 $t_3 = \frac{n}{4} - \frac{1 - \varepsilon}{2}, \qquad t_4 = \frac{n}{4}.$ 

M is the matrix of a 'third' minor. The evaluation of

det 
$$(M^T \cdot M) =$$
$$\begin{array}{c|c} M_1 & +1 \\ M_2 & +1 \\ +1 & M_3 \\ \hline & M_4 \end{array}$$
, where  $M_v = \begin{bmatrix} n-3 \\ \cdot & -3 \\ -3 & \cdot \\ & n-3 \end{bmatrix}$ 

of order  $t_v$ , gives

det M = 0, det M = 0, for  $\varepsilon = \pm 1, \delta = \pm 1, n > 8$ ; det M = 0, for  $\varepsilon = \pm 1, \delta = \pm 1, n \ge 8$ ; det  $M = \pm 4n^{n/2-3} = \pm 4g_n/n^3$ , for  $\varepsilon = -1, \delta = -1, n \ge 8$ .

The problem also shows that the (n - 2)- and (n - 3)-order nonsingular submatrices of an *n*-order Hadamard all have inverses whose nonzero entries can be only +2/n or -2/n.

Problem 73-8. A Polynomial Diophantine Equation, by M. S. KLAMKIN (Ford Motor Company).

Determine all real solutions of the polynomial Diophantine equation

(1) 
$$P(x)^2 - P(x^2) = x\{Q(x)^2 - Q(x^2)\}.$$

Solution by O. P. LOSSERS (Technological University, Eindhoven, the Netherlands).

From the given equation, it follows that

$$P(x^4) - x^2 Q(x^4) = P^2(x^2) - x^2 Q^2(x^2)$$
  
= {P(x<sup>2</sup>) - xQ(x<sup>2</sup>)} {P(x<sup>2</sup>) + xQ(x<sup>2</sup>)}.

Letting  $F(x) = P(x^2) - xQ(x^2)$ , we have

(2) 
$$F(x^2) = F(x)F(-x).$$

Conversely, any solution of (1) may be obtained from a solution of (2) by taking

$$P(x) = \frac{1}{2} \{ F(\sqrt{x}) + F(-\sqrt{x}) \},$$
$$Q(x) = \frac{1}{2x} \{ -F(\sqrt{x}) + F(-\sqrt{x}) \}.$$

Polynomial solutions of (2) may be written in the form

$$F(x) = C(x - \alpha_1)(x - \alpha_2) \cdots (x - \alpha_n) \qquad (C \text{ is a constant}).$$

Then

$$F(-x) = (-1)^n C(x + \alpha_1)(x + \alpha_2) \cdots (x + \alpha_n)$$

so that

$$F(x)F(-x) = (-1)^n C^2(x-\alpha_1)(x+\alpha_1)(x-\alpha_2)(x+\alpha_2)\cdots(x-\alpha_n)(x+\alpha_n)$$

On the other hand, taking  $\beta_i$  such that  $\beta_i^2 = \alpha_i (i = 1, \dots, n)$ , we find

$$F(x^2) = C(x-\beta_1)(x+\beta_1)(x-\beta_2)(x-\beta_2)\cdots(x-\beta_n)(x+\beta_n).$$

Therefore, in view of (2), excluding the trivial case C = 0, we obtain  $C = (-1)^n$  and  $(\alpha_i)_{i=1}^n$  is a permutation of  $(\beta_i)_{i=1}^n$ .

Finite, squaring-invariant subsets of the complex plane can only contain 0 and roots of unity of odd order. The irreducible polynomials corresponding to these roots are

$$\lambda_0(x) = x, \qquad \lambda_k(x) = \prod_{(2k-1,l)=1} [x - \exp[2\pi i l/(2k-1)]], \qquad k = 1, 2, 3, \cdots,$$

(the cyclotomic polynomials). Since for all  $k = 1, 2, 3, \dots$ , the set  $\{\exp [2\pi i l/(2k-1)]\}_{(l,2k-1)=1}$  is squaring-invariant and the set of solutions of (2) is closed under multiplication, the general polynomial solution of (2) is

$$F(x) = (-1)^{\deg F} \prod_{k=0}^{\infty} (\lambda_k(x))^{n_k},$$

the  $n_k$  being nonnegative integers,  $n_k \neq 0$ , for a finite number of indices k. These polynomials all have integral coefficients.

Also solved by the proposer, who notes that one can give extensions by considering higher order roots of unity. For example, letting  $\omega^3 = 1$ , consider  $F(x^3) = F(x)F(\omega x)F(\omega^2 x)$ , where  $F(x) = P(x^3) + \omega x Q(x^3) + \omega^2 x^2 R(x^3)$ .